Multivariate Statistical Analysis, Exercise 6, Fall 2011, Prof. S.K. Jeng
November 25, 2011 TA: H.C. Cheng

(Profile Analysis) Here we consider the problems of profile analysis. Before going
on, recall the corollary:

Corollary Consider a linear transform of X ~ N,(u,X), Y = AX where Ay,
with (¢ < p). Let T and Sx be the sample mean and the covariance matrix, we
have

1
y=AT ~ N, (Ap,—AXAT)
n
nSy = nASXAT ~ Wq(AZAT,n — 1)
(n— 1)(AT — Ap)T(ASxAT) (AT — Ap) ~ T%(q,n—1),
where T2 is Hostelling’s T?-distribution and W is the Wishart distribution.

The repeated measurements problem arises in practice when we observe repeated
measurements of characteristics (or measures of the same type under different
experimental conditions) on the different groups which have to be compared. It
is important that the p measures (the “profile”) are comparable and in particular
are reported in the same units. For instance, the observations may be the scores
obtained from p different tests of two different experimental groups. One is then
interested in comparing the profiles of each group: the profile being just the vectors
of the means of the p responses.

We are thus in the same statistical situation as for the comparison of twomeans:

XilNNp(lLLl,Z) 7,-:1,...,77,1
XigNNp([LQ,Z) izl,...,ng

where all variables are independent.

The following questions are of interest:

1. Are the profiles similar in the sense of being parallel (which means no inter-
action between the treatments and the groups)?

2. If the profiles are parallel, are they at the same level?

3. If the profiles are parallel, is there any treatment effect, i.e., are the profiles
horizontal (profiles keep the same no matter which treatment received)?
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Now we consider these three scenarios as following.

Parallel Profiles Let C' be a (p — 1) x p matrix defined as

1 -1 0 0

0 1 -1 0
C = )

0 0 1 -1

The hypothesis to be tested is
HOl : C(ul - ILLQ) =0.

From the above corollary we know under H:
nin9
(ny + ngy)?
where S = (nl1S] + n2S2)/(n1 + na). The hypothesis is rejected if

(m +No —2){0(51 —EQ)}T(CSCT)_IC(fl —fg) ~ T2(p— 1, n1+"no —2),

nina(ny + ny — p)
(n1 +n2)*(p— 1)

(CT)(CSCT)'CT > Fiapetan s

Equality of Two Levels The question of equality of the two levels is meaningful
only if the two profiles are parallel. In the case of interactions (rejection of Hyy,
the two populations react differently to the treatments and the question of the
level has no meaning.

The equality of the two levels can be formalized as
Hos : 15(#1 - ,uz) =0,

since

T(= _ = T mtne g
1p (ZL’l — 1’2) ~ N1 (1p (Ml — [LQ), s 1p21p)

and

(n1 +n2)1] 51, ~ Wi(1]51,,n1 + np — 2).
Using the above corollary we have
{1, (7 — 7))

(n1+n2—2) ~ T2(1,n1+n2—2)
1751,

ning
(n1 + TLQ)Q

== Fl,n1+n2—2'
The rejection region is

ning(ny +ny — 2) {17 (71 — 72)}?
(n1 -+ n2>2 1’55117

> Fl—a;l,n1+n2—2-



Treatment Effect If it is rejected that the profiles are parallel, then two inde-
pendent analyses should be done on the two groups using the repeated measure-
ment approach. But if it is accepted that they are parallel, then we can exploit
the information contained in both groups (eventually at different levels) to test a
treatment effect, i.e., if the two profiles are horizontal. This may be written as:

H03 : C(,Uq + ,LLQ) = 0.

Consider the average profile 7:

nlfl + ngfg
ny + N9

T =

Clearly,

Ny + Naflo b))
n1 + N ’ ni + neo '

r

With Hog with H01 1mphes that

C(M) _o
n1+n2

So under parallel, horizontal profiles we have

Vi1 +naCT ~ N,(0,C8CT).
From the above corollary, we again obtain
(n1 +ng —2)(C2)H(CSCTYCT ~ T?(p — 1,01 + 1y — 2).
This leads to the rejection region of Hys as

n+ne—p, 1
ﬁ(gw)T(CSCT) 'C7 > Flaip-1,n14n2—p-
The data of this exercise contains two categories with group 1 contains 37 data,
group 2 contains 12 data both with 4 sub-tests. Now using the data to calculate
the test statistics for those three profiles analysis and justify which will be accepted
or rejected.



